Unemployment Insurance
History of Unemployment Insurance

The idea for unemployment insurance in the United States started in Wisconsin in 1932. Shortly thereafter in 1935 President Roosevelt signed into law the Social Security Act which contained provisions and incentives for unemployment programs from the states in response to the high rate of joblessness in the country (here).  Currently, there are unemployment insurance programs in all 50 states, the District of Columbia, Puerto Rico, and the United States Virgin Islands. 
How Unemployment Insurance Premiums are Collected

Unemployment insurance funding is collected in tow basic methods. The federal government places a 6% tax on the first $7,000 of income for most employees of an employer and issues a credit of up to 5.4% if the employer pays state unemployment insurance tax in a timely manner yielding an effective rate of 0.6% (here). States then collect unemployment insurance premiums via payroll taxes from employers in their own manner.  Arkansas, New Jersey, and Pennsylvania also collect taxes from employees in certain conditions (here).
How Unemployment Insurance is Distributed

Unemployment insurance is distribution varies by state. Each state has its own qualification criteria and payment amounts and scales. 
Qualifications
As stated earlier, each state has its own criteria for qualifying to receive unemployment insurance benefits. For example, Texas requires that a claimant be employed full time for 2 of the previous 4 quarters before the quarter the claim is made in. Additionally the claimant must be unemployed through no fault of their own, indicating that a claimant is ineligible if they leave their job voluntarily unless specific requirements are met.
Amount Paid
Benefits of Unemployment Insurance

If people lose their jobs because of a market downturn in one specific sector of the economy or for one specific company, unemployment insurance benefits allow workers to collect some small amount of money to help them pay for housing, food, and fuel while they find other work. Unemployment insurance allows the job marketplace to be more efficient by allowing workers to find more suitable/comparable work when they have lost their jobs instead of having to immediately take the first paying job offered that they may be less suited for.
Consequences of Long Term Use in an Economic Recession

Unemployment insurance is meant to be a stopgap measure for short term unemployment. The benefits paid out are not meant to sustain any lifestyle for a long period of time. 

In an economic recession with high unemployment on the macroeconomic level, there exists a temptation to extend the unemployment insurance benefits to the unemployed for longer periods of time. The problem with this action is that the sustained macro economic unemployment is caused by a lack of spending in the economy. People spending less in the macroeconomy is shown by economists as a decline (or leftward shift)  in the aggregate demand curve. Such a shift in aggregate demand can create a vicious circle which perpetuates unemployment and downward pressure on real wages. While giving the unemployed some small income to supplant the normal income they would have had helps the individual unemployed worker, it also allows the lack of spending in the macroeconomy to persist.

For example, if a worker that normally makes $700 a week and spends 95% of his or her income loses his or her job, $300 a week from unemployment insurance will make the individual much better off than earning $0 per week without unemployment insurance benefits. In a healthy economy (an economy near, at, or below its natural rate of unemployment), the unemployed worker will be able to find comparable employment at another firm in the short term (6 months). However, in a depressed economy, the worker will be unable to find comparable employment because all firms are suffering from a lack of income due to a lack of spending in the economy. In the case of a depressed economy, unemployment insurance still helps the individual unemployed worker for a short time, but also puts them in an income trap. As there will be many more workers of the same caliber looking for similar employment, the acceptable wave for the same work will face downward pressure. The phenomenon will eventually lead to worker taking a job for less income than he or she had previously, but for more income than is afforded by unemployment insurance benefits; or it will lead to the worker being unable to find employment. If the unemployment insurance benefits are extended into the long term (greater than 6 months) the worker still has some benefit of not earning $0 per week; however, drastic lifestyle changes must be make to accommodate this lower income level. These lifestyle changes manifest themselves in the form of much lower spending levels. When the phenomena of lower wages, no wages, and lower spending happen en masse, the economy struggles to recover because so many of its participants are out of work with $0 per week in income, collecting unemployment benefits with $300 per week in income, or underemployed earning $500 per week in income. It becomes clear that the destructive cycle of lower spending leading to lower business income leading to lower worker wages leading to lower spending is slightly slowed by unemployment insurance and unemployment insurance is a far better alternative than doing nothing; however, unemployment insurance can not solve systemic long term unemployment. 
Alternative Policy for Long Term Unemployment

The most obvious solution to long term macroeconomic unemployment is to raise the unemployment insurance benefit wages to a level that is closer to the level of the wage of employment. There are two major problems with this approach. The first major problem is that of moral hazard. With an increased unemployment insurance benefit, unemployed workers have less incentive to find work. The closer the unemployment insurance benefit is to the employment wage, the less incentive the unemployed have to become employed because the hardship of being unemployed is reduced so greatly. This trend could be reduced by lowering the unemployment wage as time progressed, but that still leads to lower spending levels. What seems to make unemployment insurance work is that the amount paid out is enough to keep the worker from becoming destitute for a short period of time but is also not so much or lasts so long that workers have little incentive to get off the program. Arguably some states strike this balance better than others.
The second major problem with simply raising the unemployment benefit wage is that of cost versus production benefit. Under the current subsistence program, we pay the unemployed simply to look for new work. As was discussed previously, this level of pay only slows the inevitable economic downturn in a contracting economy. Moreover, increasing the benefit of unemployment insurance alone vastly increases the cost of the program, creates a huge potential for moral hazard issues, and only makes life slightly more comfortable for the unemployed while having little to no direct beneficial effect on society.

The solution is to use the money that would be used to increase the unemployment benefit rate and the money that would be used to extend unemployment insurance into the  long term to create job that create positive externalities. For example, increasing sewage systems or roads to handle more capacity would benefit society by allowing for more growth. Additionally, undergrounding electric and data networks, updating the electric data networks to be able to pinpoint breaks more easily, and upgrading capacity of electric and data networks would increase electrical and communication reliability for everyone. Infrastructure improvement jobs such as these are so large in scope that they would take years to complete if funded in earnest. The beauty of a program like this is that it can be scaled to match current economic conditions. If the economy is experiencing accelerating inflation, the program can be scaled back to nearly nothing; alternatively, while there is high unemployment, the program can be scaled up to accommodate the difference in the lack of spending at the macroeconomic level.
Programs

The programs involved need to cover the gamut of lower and middle class work and need to be able to accommodate a wide variety of workers. Since the reason for the high levels of unemployment is low spending across all sectors of the economy, there will be many workers with widely varying skills and abilities. Therefore it is inadvisable that all or most of the jobs be tailored to able bodied men in prime physical condition. The programs will all need to be designed to last 6 to 18 months. The best scenario is that all projects last about 6 months so that quick scaling back can be accomplished if needed.
Expand Roadways

Expand Sewage Systems

Expand, Improve, and Underground Electric Grid

Expand, Improve, and Underground data network

Provide child care

Rebuild/Construct Education Infrastructure

Staff/Maintain Libraries
Maintain and Clean Park and Public Facilities

Possible Alternative Consequences of Job Creation

Logistical nightmare.

Accelerating inflation from expanding too quickly.

Crowding out private sector spending in these areas. In an economic contraction, the issue is not enough spending is happening, therefore the opportunity to crowd out private sector spending is almost zero as the problem precisely is that there is a shortage of private sector spending.

Ways to Mitigate Alternative Consequences of Job Creation

Creating modules.
Closely monitor price levels and scale back when necessary.
Synopsis

 Unemployment insurance came about in the late 1930's as a way to help those who were temporarily out of work. Each state has its own laws for funding, qualification for benefits and governing how much is paid in benefits. Unemployment insurance allows labor markets to be more efficient by allowing workers the flexibility to find suitable work after becoming unemployed. Unemployment insurance is not a particularly good tool for addressing long term mass unemployment because the benefit rates are too low to correct the lack of spending in the overall economy. The most obvious solution to addressing high unemployment caused by an economic contraction of raising the benefit rate creates the high potential for moral hazard and is not the most efficient use of funds for society's benefit. A program that employs workers to improve national infrastructure and provide services to underserved areas during times of large scale unemployment is a much better tool to tackle long term high unemployment. The program will encompass as many sectors of the economy as possible and have a fairly large pay range of jobs and will have projects lasting 6 to 18 months.  The projects encompassed by the program will have the additional benefit of lowering the cost of inputs for businesses, increasing capacity for growth, and lowering the barriers to entry for many markets. Possible adverse effects of this program include accelerating inflation which can be mitigated by closely monitoring price levels and scaling back accordingly.
